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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.1 :- I. x2 −11x + 30=0                          II.  y2 + 12y +36=0

Q.2 :- I. x2 +13 x +40 =0                        II.  y2 + 7 y+10= 0

Q.3 :- I. x²−20x + 91 = 0 II. y²+16y +63= 0

Q.4 :- I. x²− x −12=0 II. y2 +5y + 6 = 0

Q.5 :- I. x2 + 9x +20=0 II. 8y² − 15y + 7 =0
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6 . If ratio of ages of P and Q before 4 year ago is 5:4 and after 12 years sum of their ages 
will be 68 years, their what was P's age 2 years ago ?
यदि 4 वर्ष पहले P औरQ कीआयुका अनुपात 5:4 है और 12 वर्ष के बाि उनकीआयु का योग 68 
वर्ष होगा , तो P कीआयु 2 वर्ष पहलेक्या थी?

(A)24years (B)22years (C)18years (D)26years (E)None of these
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7. P invested 60% more than Q and R invested 20% more than Q. If ratio of investment 
time-period (P: Q: R) is 2: 4:3 and the sum of profit shares of Q and Ris Rs. 8550 then find 
the profit share of P?
P नेQ से 60% अदिक दनवेश दकया है।औरR नेQ से 20% अदिक दनवेश दकया है। यदि दनवेश
कीसमयावदिकाअनुपात (P: Q: R) 2: 4:3 है औरQ औरR के लाभ शेयरो ोंका योग 8550रु है।
P कालाभ शेयर पाएों ?

(A)Rs3200 (B)Rs4000 (C)Rs2400 (D)Rs3600 (E)None of these
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8. If a boat travels 18 km more in downstream than in upstream in 3 hr. and if the speed of 
the Boat in still water is 20 km/hr. find the distance travelled by boat in downstream in 4 hr. 
? 
अगर एकनाव 3 घोंटे में उर्ध्ष प्रवाहकी तुलना में अनु प्रवाह में 18 दकमी अदिकयात्राकरती हैऔर
यदिअभीभी पानी में नाव की गदत 20 दकमी / घोंटा है। 4 घोंटे में अनु प्रवाह में नाव द्वारा तयकी गई
िूरी ज्ञातकरें?

(A)86 (B)92 (C)68 (D)96 (E)None of these
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9 . When a person sold an article, his profit percent is 60% of the selling price. If the cost 
price is increased by 75% and the selling price remains the same, then find decrement in 
the profit is what percent of the selling price of the article? 
जब दकसीव्यक्ति ने एकवसु्त बेचा, तो उसका लाभ प्रदतशत दवक्रय मूल्यका 60% है। यदि लागत
मूल्यमें 75% की वृक्तिहुई हैऔर दवक्रय मूल्यसमान है,लाभ% में दगरावट वसु्त के दवक्रय मूल्य
का दकतना प्रदतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these
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10 . If a shopkeeper marks an item 50% above its CP and if 12% discount is given on the 
marked price and the shopkeeper makes profit of 256 Rs, then what will be the actual cost price 
of the item?
यदिकोई िुकानिार अपने क्रय मूल्य से 50% ऊपर मूल्यअोंदकतकरता है, औरयदिअोंदकत मूल्यपर
12% की छूट िी जाती हैऔर िुकानिार 256 रुका लाभकमाता है, तो वसु्तकी वास्तदवककीमतक्या
होगी?

(A)1000 (B)800 (C)750 (D)1200 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 58 (B)53 (C) 56 (D)54 (E)None of these

What value should come in the place of question mark(?)in the following questions.

420 of 20% + 324 of 75% − 822 ÷ 3 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

What value should come in the place of question mark(?)in the following questions?

637 + 21 × 26 −√2116 = ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 4375 (B)4476 (C)4276 (D) 4325 (E)None of these

What value should come in the place of question mark(?)in the following questions?

18³ + 38 × 6 − 1244 − 21²= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1329 (B)1220 (C)1230 (D)1229 (E)None of these

What value should come in the place of question mark(?)in the following questions?

221 + 344 − 1440 of 25% + 32²= ?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1240 (B)1280 (C)1260 (D) 1270 (E)None of these

What value should come in the place of question mark(?)in the following questions?

216 × 6 + 132 ÷ 6 − √1444= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2600 (B)2500 (C)2400 (D)2450 (E)None of these

What value should come in the place of question mark(?)in the following questions?

51² + 128 × 75% − 97= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)230 (B)240 (C) 200 (D)270 (E)260

What value should come in the place of question mark(?)in the following questions?

50% of 82+ 40% of 1260 = ? + 275
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)584 (B)684 (C)534 (D)674 (E)None of these

What value should come in the place of question mark(?)in the following questions?

√3136 + √ 1936 + 22² = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 9521 (B)9118 (C)9130 (D)9131 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2116 + 1352 + 5679 + 1122 ÷ 3 = ?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 25 (B) 24 (C) 27 (D) 29 (E)None of these

What value should come in the place of question mark(?)in the following questions?

144 × 7 + 612 × 4 = ?% of 12800
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What should come at place of the question mark (?) in the following number series ?

11 . 8 , 12 , 23 , 53 , 138 ,  ?  

(A)384 (B) 382 (C)386 (D)387 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

12 . 13 , 61  , ?  , 349 , 733 , 1501

(A)157 (B)152 (C)153 (D)155 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

13 . 4 , 9 , 15 , 27.5  , ?  , 150.5

(A)56 (B)59 (C)60 (D)63 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

14 . 13 , 19 , 37 , ? , 141 , 243

(A)72 (B)78 (C)76 (D)75 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

15 . 9 , 13 , ? , 113 , 625 , 725

(A) 77 (B)75 (C)72 (D) 79 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 1440 (B) 5040 (C) 3600 (D)720 (E)None of these

16 . In how many ways the letters of the word 'THERAPY' be arranged so that the letter 'A' 
and 'Y' never come together?

'THERAPY' शब्दको दकतनी तरीके से व्यवक्तथथत दकया जा सकता है दक 'A' और 'Y' एकसाथ
नही ोंआये?
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(A)450 (B) 300 (C)400 (D)Cnd (E)None of these

17. A steamer goes downstream from one port to another port in 8 hours. It covers the same 
distance upstream in 10 hours. If the speed of stream is 5 km/hour, the distance between the 
two ports is. 
एकस्टीमरअनुप्रवाह में एक बन्दरगाह से िूसरे पर 8 घणे्ट में पहुचा है, वहसमान िूरी उर्ध्षप्रवाह में
10 घणे्ट में तयकरता है। यदि िारा की चाल 5 दकमी/घण्टा है, तो िोनो ों बन्दरगाहो ों के बीचकी िूरी
ज्ञातकीदजए।
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(A)85 (B) 75 (C)95 (D)80 (E)None of these

18. A cricketer whose bowling average is 24.85 runs per wicket, takes 5 wickets for 52 runs in 
last match and there by decrease his average by 0.85. The number of wickets taken by him 
before the last match was?
एक क्तिलाडी दजसकी गेंिबाजीकाऔसत 24.85 रन / दवकेट है, अक्तिममैंच में वह 52 रन िे कर 5 
दवकेट लेता है, दजससे उसकेऔसतमें 0.85 कीकमी हो जाती है। उसके द्वारा अक्तिम मैच से पूवष
में दलये गये दवकेटो ोंकी सोंख्या ज्ञातकरे?
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Directions (Q. 26-30):Read the following information carefully to answer the questions 

asked Following bar graph gives information about number of cycles sold be two 

shopkeepers during January to June 2017.
पूछे गए प्रश्ो ों का उत्तर िेने के दलए िी गयी जानकारी का ध्यानपूवषक अध्ययन कीदजये - दनम्नदलक्तित बार ग्राफ जनवरी से

जून 2017 के िौरान िो िुकानिारो ों द्वारा बेचे गए साइदकलो ों की सोंख्या के बारे में जानकारी िेता है।
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(A)None (B)One (C)Two (D)Three (E)FOUR

Q.26 :-For shop B in how many months percentage change in the number of cycles sold as 
compared to previous was more than 30% ?
िुकान B के दलए दकतने महीनो में बेची जाने वाली साइदकलो ोंकी सोंख्या में दपछले वर्ष की तुलना
में पररवतषन 30% से अदिकथा ?

440 380
500

750
540

675

530

220

390

450 575
600

0
200
400
600
800

1000
1200
1400

N
u

m
b

e
r 

o
f 

cy
cl

e
s 

so
ld

Month

Number of cycles sold by 2 shops during six 
months

Company -B

Company - A

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) June (B)March (C)May (D)April (E)None of these

Q.27:-In which month percentage increase/decrease in the number of cycle sold by shop A 
was second highest ?
िुकानA द्वारा बेची ोंगयी साइदकलो ोंकी सोंख्या में दकसमहीने दपछले महीने की तुलना में प्रदतशत
वृक्ति / कमी िूसरी सवाषदिकथी?
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(A)492 (B)512 (C)498 (D)522 (E)None of these

Q.28 :-Find the average number of cycles sold by shop A from January to May 2017.

िुकानA द्वारा जनवरी से मई 2017 तक बेची जाने वाली साइदकलो ोंकीऔसतसोंख्या ज्ञातकीदजये
।
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(A)cnd (B)100 (C)125 (D)120 (E)140

Q.29 :-If in July number of cycles sold by shop A is increased by 10% and number of cycles 
sold by shop B is decreased by 20%, then find the difference between number of cycles sold 
by shop A and shop B in July 2017. 
यदि िुकानA द्वारा बेची गई साइदकलकी सोंख्या में जुलाई में 10% की वृक्ति हुई हैऔर िुकानB द्वारा बेची B जाने
वाली साइदकलकीसोंख्या में 20% कीकमीआई है, तो जुलाई 2017 में िुकानA और िुकानB द्वारा बेची जाने वाली
साइदकलो ोंकी सोंख्या के बीचअोंतर ज्ञातकीदजये ।
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(A)12.5% (B)15% (C)20% (D)5% (E)None of these

Q.30 :-Number of cycles produced by shop A in May is how much percent less than the 
number of cycles produced by shop B in June ?
मई में िुकानA द्वारा उत्पादितसाइदकलो ोंकी सोंख्या जूनA में िुकान B द्वारा उत्पादित साइदकलो ों
की तुलना में दकतने प्रदतशतकम है ?
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(A)58:83 (B)29:40 (C)17:13 (D)28:23 (E)None of these

Q.31 :-Find the ratio between number of cycles produced by both companies together in the 
month of January and April respectively.
िोनो ोंकों पदनयो ों द्वारा क्रमशः जनवरी तथा अपै्रलमें उत्पादितसाइदकलो ोंकी सोंख्याकाअनुपात
ज्ञातकीदजये ।
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(A)26 (B) 14 (C)34 (D)27 (E)24

19 . A man and a woman together can do a piece of work in T days. if A man alone can do 
the same work in (T+16) days and A woman can do the same work in (T+36) days, find the 
value of T.
एक पुरूर्और एकमदहला दमलकरएककामको T दिन में करते है, यदि एक पुरूर्अकेले
समानकायष को (T+16) दिन में पूर्ष करेऔर एकमदहला अकेले समानकायष को (T+36) दिनो ों में
पूर्ष करे तो T का मान बताइये?
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(A)53 : 77 (B)5 : 8 (C)51 : 79 (D) CND (E)None of these

20 . If b : (a+c) = 4 : 9 and c : (a+b) = 3 : 7 the find the ratio of a : (b+c)

यदि b : (a+c) = 4 : 9 और c : (a+b) = 3 : 7 तो a : (b+c) की ज्ञातकरे ।

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 60% (B)90% (C) 85% (D)CND (E)None of these

21 . In a test consisting 150 question carrying 1 mark each, Ram answered 70% of the first 
75 questions correctly. What percent of the other 75 question does he need to answer 
correctly to score 80% of the entire exam? 
एकपरीक्षा में 1 अोंक के 150 प्रश् रिे गये, राम ने पहले 75 प्रश्ो ों के 70% सही उत्तर दिये, वह िूसरे
75 प्रश्ो ों के दकतने प्रदतशतसही उत्तर िे दक उसके कुल 80% अोंक प्राप्तहो ?
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(A)500 (B)550 (C)600 (D)650 (E)None of these

22. A watch is sold at a profit of 20% if both the cost price and selling price of the watch 
decreased by Rs. 200, the profit would be 10% more. original cost price of the watch is?

एकघडीको 20% लाभ पर बेचा जाता है, यदि य मूल्यव दवक्रय मूल्यिोनो ों में ही रू. 200 कोकमी
कर िी जाये तो लाभमें 10% की वृक्ति हो जाती है घडीका वास्तदवकक्रयमूल्यज्ञातकरें?
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(A) 4kg (B) 10 kg (C) 5 kg (D)CND (E)None of these

23 . A 10 kg mixture of sand and salt 40% is sand. How much salt should be added so that 
ratio of salt and sand became 4:1in new mixture?
बालूऔर नमक के 10 दकलो दमश्रर्में 40% बालू है, इसमें दकतना नमकऔर दमला िे दक दमश्रर्
में नमकव बालू को अनुपात 4 : 1 हो जाये?
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(A) 5/36 (B) 1/9 (C)1/6 (D) 1/3 (E)None of these

24.A dice is thrown twice what is the probability of getting a sum more than 9 from the both 
throws?
एकपासे को िो बारफें का जाता है। िोनो ों बार में आने वाले अोंकोका योग 9 से अदिकहोने की
क्यासम्भावना होगी?
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(A)57200 (B) 5720 (C)48900 (D)CND (E)None of these

25. Ravi decided to donate 15% of his monthly salary to an NGO. On the day of donation he 
changed her mid and donated Rs. 6864 which is 80% of what he had decided earlier. How 
much is Ravi's monthly salary?
रदवअपनी मादसकआयका 15% एकNGO में िान करने का दनर्षय लेता है िान के दिन उसका
दिमाग बिलजाता है, औरवहरू. 6864 िानकरता है, जो दकउसके द्वारा पूवष में तयकी गई रादश
का 80% है। रदवकी मादसकआयज्ञातकीदजए?
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. x³ = − 100                                  II.  y³  =− 200

Q.32 :- I. x2 − 20x +91 =0                        II.  y2 + 16 y+63= 0

Q.33 :- I. 3x²−11x + 10 = 0 II. 2y²− 13y +15= 0

Q.34 :- I. x²− 4x− 21=0 II. y2 +11y + 24 = 0

Q.35 :- I. x2 − x − 12 =0 II. y² + 5y + 6=0
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